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logarithm. V , Vy-Daten

logV =(log

logVo =logV + 0,02
Lol

+logLo)/2 log o= ~0,35[1y~u. ]2

Adaptation: Ay =557

V L o M C
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uy=(\ — 550) / 50
logV =(log
|Og Lg = —0,35[.1)\—U570]
log [Vo, V,

maximum
log(L m)=-0,02
Lm=0,95
Schwelle
tz=0,00

logarithm. V , Vo-Daten

logV, =logV + 0,02

uy=(A — 550) / 502
+logL)/2 logVi,= —0,35u)-u ]2
|Og Lo = —0,35[.1)\—[]570]

, Lol Adaptation: A, =557
maximum
log(L m)=-0,02
L m=0,95
Schwelle

1(Mo=V)
Sy 1LtV
3 U

-Daten

+logLo)/2log . = -0,35l-u-

+0,08
1Lo]

Uy=( — 550) / 50
=(log
logLo = —0,35L)~Us7q =log

Adaptation: A =545 M,

570

maximum
log(L m)=-0,08
Lm=0,81
Schwelle
tz=0,00

3 U

600 700 A/nm

-Daten uy=(A\ - 550) / 50
+logL)/2 log -, = =0,350y-u- -]
+0,08 logL, = _0135[1)\_U57o]
Lol Adaptation: A =545

maximum
log(L m)=-0,08
L m=n,31
Schwelle

2

-Daten

+logL)/2 log

+0,08
+Lo]

700 A/nm

uy=(A — 550) / 502 ]

=-0,35\-u ]2 =(log
logLo = —0,35)~Us7d =log
Adaptation: A =545 !

570

maximum
log(L m)=-0,08
m=0,81
Schwelle
tg=0,00

3 U

600 700 A/nm

-Daten
+logL)/2 log
+0,08 logL, = _0135[1)\_U570]
Lol Adaptation: A =545

570 maximum
log(Lm)=-0,08
Lm=0,81
Schwelle

Uy=(A - 550) / 50

=-0350-u- ],

,Lo-Daten

+log )12 log©. =-0,35[-u- ]2

logL,=logL +0,35
log [Lo, L, G0,

700 A/nm

CGK50-6A
uy=(A — 550) / 50
logL =(log
log  =-0,35u\-u ]

Adaptation: A. =570 log [Lo, L,

maximum
log(Lm)=—0,35
Lm=0,44
Gchwelle
0,00

logarithm. L , L,-Daten

600 700 A/nm

U= = 550) /50,
+log )/2 log©, =-0,35u)-u ]2

logLo =logL + 0,35 log: =-0,35u\—u ]

Adaptation: A =570
maxizum
159(L m)=-0,35
Lm=0,44
Schwelle

L
1(0-L)
1 -L)

3 U

CGK50-8A

TUB-Prufvorlage CGKS5; Elementar-Farbensehen; Schwgi@ @0 (lin

600 700 A/nm

logarithm. V , Vo-Daten
logV =(log
logV, =logV +0,01
log [Vo, V , Mg, Lo]

uy=(\ — 550) / 50
+logL)/2 logVi,= —0,35L)\~u ]2
|Og Lo = —0,35!.])\—U57o]
Adaptation: Ay, =557

2

0

— 1

maximum
log(Lm)=-0,01
Lm=0,95
Schwelle

600

-Daten

Uy=(A — 550) / 50

+logLo)/2 log ., = —0,35\—u: ]

+ 0,07
, Lol Adaptatio
570

logLo = —0,35)~Us7d

n: A =545

maximum
log(Lm)=-0,07
Lm=0,83

sSchwelle

=0, Iu

3 U

600

-Daten
+logLo)/2 log©, = —
+0,07 loglLy = -
, Lol Adaptatio

570

700 A/nm

Uy=(A — 550) / 50

0,350 15
0,35!.])\—U57o]
n: A =545

L

maximum
log(Lm)=-0,07
Lm=0,83

<Schwelle

=0, Iu

3 U

600

CGK51-5A

logarithm. L , L,-Daten
logL =(log©.+log )/2 logt, = -
logLo=logL + 0,30 log i =~
log [Lo, L, Co,y Adaptatio

u=( - 550) / 50,

700 A/nm

0,350 15

0,350,-u ]
n: A. =570

maximum

CGK51-7A
CGK51-7N

log[Empfindlichkeiten & DifferenzenlMS-R2%(545,557,570), (520,545,570), (520,570,620)
Y

logarithm. V , Vo-Daten uy=(A — 550) / 502
logV =(logV,+logLo)/2 logVi,=—0,35u)-u ]2
logVo=logV +0,01 logLo = —0,35[)\—Us7q
log [Vo, V, Mg, Lo] Adaptation: A, =557
maximum
log(L m)=—0,01
L m=0,95
Schwelle
t2=0,10

\%

“ e KV
1Lo-V)
3

600 700 A/nm

-Daten uy=(A — 550) / 50
+logLo)/2 log©, = —0,35\-u: ]
logLo = —0,35[)~Us7q
Adaptation: A =545

maximum
log(L m)=—0,07
L m=0,83
Schwelle
t=0,10

=(log
=logMV + 0,07
M, Go, Lo]

= )

1(Lo=M))

3
600 700 A/nm

-Daten uy=(A — 550) / 502
+logLo)/2 log©, = —0,35\-u ]2
|Og Lo = —0,35[.1)\—L|57o]
Adaptation: A =545

570 maximum
log(L m)=—0,07
L m=0,83
Schwelle

=(log
=logMV + 0,07
+Go, Lo

600 700 A/nm

CGK51-6A

logarithm. L , L,-Daten uy=(\ — 550) / 502

logL =(log©+log )/2 log© =-0,35uy\-u ]2

logLo =logL + 0,30 log: =-0,35u\—u ]

log [Lo, L Go, Adaptation: A- =570
maximum
log(L m)=-0,30

570 L m=0,49

Schwelle

CGK51-8A

) und 0,10 (rechts), EOO
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